Report of Quiz 8

10/30/2016
1. Summary
Number of Students
Total 160
Attended 153
Missed 7
Makeup 0
Quiz 8
100
Average =8.5
Stdev=1.1

80

60

40

20

0-5

56
38
26 27
6
0
6 7 8 9 10




10.0

9.0

8.0

7.0

6.0

5.0

4.0

3.0

2.0

1.0

0.0

8.5

Quiz 8 comparison with previous years
9.2
9.0

7.8 7.9
7.5

6.6

1.9 1.8
1.6 1.5 14
1.1 1.0 1.2

2015

2014 2013 2012 2010 2009 2008

w Average

. Stdev

10.0

9.0

8.0

7.0

6.0

5.0

4.0

3.0

2.0

1.0

0.0

6.8

2.0
1.5 1.6 1.5
1.0 1.1 1.3 1.1
Q1 Q2 Q5 Q6

Comparison of Quizzies 2016

9.0 8.9
8-6 8.5

8.2
7.9

7.4

Q3 Q4 Q7 Q8

w Average

. Stdev




120

108
100
2 80
c
[}
©
35
&
% 60
@
jo)
£
= 40 32
20
8 5
] L
0 | — S _
0 1 2 3 4 5 6

Number of Missed Quizzes

2. Common Mistakes

e Incorrectly solving for the mean velocity, or not solving for it at all
« Forgetting to convert the final answer to horsepower
e Making incorrect assumptions in the Bernoulli equation



	1. Summary
	2. Common Mistakes

